[Axov]

RABERIE: V5 A0, IRZAOV S RAEEM - T RERH 6A%RFE~8A%F
s I e ()
B84 A/ miE/RGER | Eth 78 8H
£8 GIES ®E GIES ®E
EREA SEA0 | sl | 18 | 5400
) FA dtimE | 1 1,620
AN3 5 1= 2700 | 2,700
P ¥ | 1@ 2,160
" " 1= 1,080
. FUFR Lk | 1@ 1,620
E‘,irg Dovoy | W% | @ | 1,620 1,620
EIEL YR Lz 118 1,620
Lk | 1@ 2,160
ot " & 1,980
FUFR W | 1B | 3,240
- FA Lk | & 2,160
ai’% =D tEE | 1\ 2,160
. e | 1B | 5940
SNy | e
HEHEMEA
(PRRX)
_ BN3 FE | 18 | 4,860
%iﬁgﬁgs S F= | 1@ 4.860 | 5400 5,400
FA F=E | 18 | 4,860
P Lk | 1@ 1,058
" " 1= 1,058
rpma 22—l T
- 5 1@ 1,382
L/v ERS | 1@ 1,382
HEEAOY IiEE | 1@ 2,138
T2 | 1@ | 2,138 1,706
aN3 Lk | 1@ 1,706
& 1@ 1,706
FUFR Lk | 1@ 1,058
"—LELUR | & 1= 1,058
. F—NoTIovA| B 1= 1,706
x%ﬁ;ﬁgfc FLR Fx | @ | 2,138
Rl A | 1@ 2138
7 L&A 5 1= 1,708
R 5 1= 1,700
AA—hILE— & E 1,700
5 Ch dmE | 1@ | 2,138 2,138
SNTALYE | dthE | 1| 2138 2,138
i & 861
FR @ [ 1,058
FE | 1@ 1,058
it & 1A 1,382
L | 1@ 1,382
= s
ABEIRIED TEE | 1@ 1490
LyFAaoy dtimE | 1A 3,218
RIk 11E 861
A = 118 1,382 | 1,490
M2EE 1,058
LEVAOV B3 & 1,706 | 1,706




